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Learning outcome

1..Students will be able to Students will be able to know the
relationship between zeroes andcoefficients of a quadratic
polynomial

2.. Students will be able to solve questions involving relationship
betweenzeroes and coefficients of a quadratic polynomial




PREVIOUS KNOWLEDGE TEST

O 1. A polynomial p(x) in one variable x is analgebraicexpressionin x of
the form

\
X)=a,x™ +a,_x? x + agwhere ay, a4, a,, . . ., a, are constants(realnumbers) and a
n n—1 + a1 0 0s 91, 92 n n

ag, a1, 3y, - - -, A, arerespectively the coefficients and n \
is called the degree of the polynomial. Each of a,x™ ,a,_,x""~ Lo,
,dgis called a term of the polynomial p(x).
2. Every linear polynomial in one variable has aunique zero, a non-zero constant polynomialhas nozero
every real number is a zero ofthe zero polynomial

3 A quadratic polynomial can have at most 2 zeroes and a cubic polynomial can have atmost 3 zeroes

4. General form of linear polynomials ax + b wherea + 0
5. General from of quadratic polynomials ax? + bx + ¢ where a#0
6. General form of cubic polynomialax? + bx? + cx + d,wherea a #0



Relationship between zeros and coefficient
https://youtu.be/5FR1Hix5WLk{8.06}




: Find the zeroes of the quadratic polynomial x2 + 7x + 10, and verify the
relationship between the zeroes and the coefficients.
Solution : We have x? + 7x + 10

= (X +2)(x +3)
So, the value of x2 + 7x + 10 is zerowhen x+2=00rx+5=0, i.e., whenx=-2 or
x = -5. Therefore, the zeroes of x2 + 7x + 10 are - 2 and - 5.

Now,
sum of zeroes = (-2 (-5) = -(7) =- (Coefficient of x )/ Coefficient of x?
product of zeroes = -2 X(-5) =10 =10/1= Constant term/ Coefficient of x?



(iii) 6x* - 3 — 7x

=6x>—T7x-3

=6x?—9x+2x-3

=3x(2x - 3)+1(2x - 3)

=Bx+1)(2x-3)

The value of 6x* — 7x — 3iszeroif3x+1=0o0r2x -3 = 0.

Sx=-zorx==
3 2

Therefore, the zeroes of 6x* — 7x — 3 are — - and . Now

St 6 3 1+3 -2+49 7 -—(~7) —-(CoFﬁcientofx)
U O er0es = =32 "6 6 6  Cofficientofx?

3 1 -3 B Constant term

Product of zeroes = (—5) X = = F T Cofficient of x2




: Find a quadratic polynomial, the sum and product of
whose zeroes are - 3 and 2, respectively.

Solution : Let the quadratic polynomial be ax? + bx + ¢, and
its zeroes be a and B. We havea+B=-3=-b/a , and
aB=2=c/a.lfa=1,thenb=3andc=2.

So, one quadratic polynomial which fits the given conditions
is x2 + 3x + 2..



:HOME ASSIGNMENT Ex.2.2 Q. No 1 &2 &..

AHA
1. If a, B are the two zeroes of the polynomial 6y2 -7y +2, find a
quadratic polynomial whose zeroes are_ 1/ a.and 1/ 3 .
2..If o, are the two zeroes of the polynomial 3x2 —4x+1, find a
quadratic polynomial whose zeroes are a2 & 2.

3.If o, are the two zeroes of the polynomial 3x2+2x+1, find the
quadratic polynomial whose zeroes are 1-o/l1+a & 1-p/ 1+ 3

4..If o, are the two zeroes of the polynomial 2x2 — 5x + 7, find the
quadratic polynomial whose zeroes are 2o+ 33 and 3o+ 23 .
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